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Addition
2 =1 Addition Algorithm (1)

Tens | Ones Tens | Ones

25

14 [

o
=1
|E:

| i
¥ |
i Y

—»[3EmdE Calculate 25 + 14 by using the algorithm.

Line up the numbers vertically
in each place.

Calculate each place
separately.

Calculation of the ones place
b+ 4=49

Calculation of the tens place
2+ 1 =3
25 + |4 = 39

e

Calculate the following problems by using the algorithm.

Tens

Ones

Tens | Ones

2

Tens | Ones
25

23 |
+ | 4 ]

36

+23

+4 1

o o
43 "

135 2

o
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I Addition |
\ 2 = 2 Addition Algorithm (2) J

Tens

Ones

Tei

¥

—»[@em e Calculate 30 + 24 by using the algorithm.

o O
30

+ 2 4

Line up the numbers vertically
in each place.

Calculate each place
separately.

Calculation of the ones place
0+ 4=4

Calculation of the tens place
3+2=5

30 + 24 = 54

Calculate the following problems by using the algorithm.

30
+ 1 4

49

+30

ns | Ones

Tens | Ones

2/

Tens | Ones

+36 |l

? ©
27 % 30

t40 +50

o

2022/02/25 13:54:1




——

i Addition
\ 2 =3 Addition Algorithm (3)

Ones

Line up the numbers ~

D

= [2FEniE Calculate 32 + 4 by using the algorithm.

Tens

vertically in each place.d\____/>

Calculate each place
separately.

Calculation of the ones place

Tens

#

i
W
Y —

2+ 4=06

Calculation of the tens place
Only 3
32 + 4 = 36

“4” does not
have any
numbers in
the tens
place.
Remember
“4” is the
same as
“04”.
Therefore,
this addition
problem is
same as the
previous
problem.

Calculate the following problems by using the algorithm.

+

Tens | Ones

32
5

©

!

Tens | Ones

5
3

10

W JICA 24 _AE&_P002-019. indd 10

Tens

Tens

Ones

Ones e Tens | Ones

B 53

| + 4

e Tens | One e

N> ¢

=™

Tens

|

3

2
4
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( Addition ‘
X 2 - 4 Addition Algorithm (4) )

—»[2Emia Calculate 3 + 64 by using the algorithm.

Tor [one] Tor [one]

@ When we write this i 3
4

el 3

addition problem b AN 3

¢ ” > usin thepalgorithmy, +6 4 or +6
ST which is correct? ‘

[ O [ Line up the numbers vertically
3 : in each place.

+64 . Calculate each place
separately.

— Calculation of the ones place
] 3+ 4 =17

Calculation of the tens place

il 6
il 3+ 64 =67

Calculate the following problems by using the algorithm.

o Tens | Ones Tens | Ones 9 Tens | Ones Tens | Ones
| 3 | g | | 5 | !

+62 W +54 il .

@ == O o= Q@ [
4 7 6

+23  +82  +3|

11
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[2 -5 Review (1) ]

I_l_' Calculate the following problems by using the algorithm.

1 2 © 4

_|_

+ |

5 (6 (7 8
2
+ 6 +4

~ DN
O Ol
_I_

W N

_|_

I_Z_I Calculate the following problems by using the algorithm.

D 3%+15 @ 13+22 € 61 +25 @ 20+ 70

+ + + +

O 8+5 @O 10+3 @ 63+6 € 7+70

+ + - +

$ 2022/02,

/25 13:54:2
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( Addition )
2 = 6 Addition Algorithm (5) J

~[3EnE Calculate 37 + 28 by using the algorithm.

(Tee [onee| - Tne s Line up the numbers
3 7 | m 1 vertically in each place.

+ 28 I m E Cal\cEJIation of the ones place

7 and 8 make
15 (10 and 5).

Regroup | to the tens place.

Calculation of the tens place

The regrouped | and 3
make 4.
b+2=6

37 + 28 = 65 %%

Calculate the following problems by using the algorithm.

o Tens | Ones Tens | Ones 9 Tens | Ones Tens | Ones

+15 1, +45 [l

 E——

0 == © o
| 8 4 4 59
+29 +38 +26

13
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i Addition
\ 2 =1 Addition Algorithm (6)

‘Tens‘Ones Tens | Ones
24 1L
iR 4
Wl

A

4 and 6 make |0.

I<—

Tens | Ones

I

I @

Line up the numbers

~[3EnE Calculate 24 + 46 by using the algorithm.

vertically in each place.

Calculation of the ones place

Regroup | to the tens place.

Calculation of the tens place

The regrouped | and 2

make 3.
3+ 4=17

24 + 46 = 70

Calculate the following problems by using the algorithm.

Tens

Ones

Tens

Ones

67 Wl
+23 |l
o == O k=

46

25

+55

+24

o
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I Addition ‘
\ 2 - 8 Addition Algorithm (7) J

—»[@em e Calculate 28 + 6 by using the algorithm.

§Tens§Ones§ Tens | Ones Line up the numbers
28 | m I vertically in each place.

o, hg .
+ 6 M l, Cal\cEJIatlon of the ones place

8 and 6 make

N 4 (10 and 4). a
g T (19and ) Regroup | to the tens place.

feng [Ones Calculation of the tens place
| T‘ The regrouped | and 2

4 || make 3.
L

. 28 + 6 = 34

Calculate the following problems by using the algorithm.

o Tens | Ones Tens | Ones 9 Tens | Ones Tens | Ones
59 Hll | 6 4 Il

* 6 7

e s e 0 9 Tens
73 47 35




( Addition |
\ 2 = 9 Addition Algorithm (8) J

—o— I

—»[@em e Calculate 9 + 37 by using the algorithm.

Tens | Ones

‘ Tens ‘Ones

I

9 and 7 make
16 (10 and 6).

I vertically in each place.
g .
I Calculation of the ones place

Line up the numbers

Regroup | to the tens place.

Calculation of the tens place

The regrouped | and 3
: make 4.

9 + 37 = 46 %%

Calculate the following problems by using the algorithm.

o Tens | Ones

+6 6

e Tens | Ones
4

+39

16

Tens

Ones G Tens | Ones Tens | Ones

5 :

+ 87 B

o e
7 6
158 +2¢

E S 2022/02/25 13: 54:26(
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( .y )

Addition
\ 2 -10 Addition Problems

=»[FEme There are two second grade classes in my
school. One class has 36 students and another
class has 35 students. How many second
grade students are there altogether?

Math _
Sentence 36 + 35 =7 (

Answer| 7| |students

J

36
+35/
7|

L1_' | have 27 notebooks and my sister has 26 notebooks.
How many notebooks are there altogether?

%% Math
Sentence 4

Answer notebooks

2_I My friend read 23 pages of a book yesterday. He
read 37 pages today. How many pages did he read

altogether?

Math
Sentence +

Answer pages

3_I My brother had 6 pencils. He bought 24 more pencils
today. How many pencils does he have altogether?

Math
Sentence +

Answer pencils

17
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[ 2 -1 Addition ceviow 2 ]

|_1—| Calculate the following problems by using the algorithm.

O 24+17 @ 3%+5 € 67+18 @ 25+ 45

+ + - +

O 38+7 @O 56+6 @ s8+16 € 4++38

%% + + + +

2| Putan X over the mistakes. Write the correct algorithm

on the right.
O 38+ 12 € 16+ 45
3 38 | 6
+ | 2 + 4 5
4 0 5 |
€ 6+27 O 20+4
6 2 0
+ 2 7 + 4
8 7 6 0

18

W JICA_24_ZF%_P002-019. indd 18 $ 2022/02/25 13:54:31(




| —o— I

|_3—I Answer the following questions.

| had 25 pieces of candy. My mother gave me |5 pieces
of candy. How many pieces of candy do | have now?

Math
Sentence +

Answer pieces of candy

36 children were playing in the park. Then |8 children
came to the park. How many children are there now?

Math
Sentence +

Answer children

| picked 24 flowers in the park. My father picked 37
%% flowers. How many flowers did we pick altogether? %%

Math
Sentence +

Answer flowers

|_4—' Make math sentences that have an answer of 32.

The numbers | to 9 can be used in the . You can
use the same number repeatedly.

+ = 32 + = 32

+ = 32 + = 32
How many math sentences Q

_|- — 32 can you make?

19
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